
(uturnumutrlul6 |
u(( LrU rrlbk 0LunLLItiurQuL !b
.f4r.

201 ap-[ qtrnrrltrbnh thnthnfu{u0 tq1

aumtllrprurnnL' (<< t{u qbt{ llrunriltrrulrutr lhLmpnbr>
Unu,qph rutr{rutrnrilp' Lpugnrght gnpnlplnrtr

funrfp 05

Lh

r1

prudfttt 4tuu

QtrduLr runrup!ur1ft

9trdur! dl-tp
2Lurf duttt

LIfrruL{npp
LIfrui{npI q$t

QnLdupl
(huqtup rlpruLInLf

PruUu!pUftgurlg[ !nr1p
puLn CPV

4uuuuQurpqLIulL

uL{LutinLdp

Ctr4urIbLp 31,326,380.0

Uqputrpbbp 7,743,200.0

15981100 C2upL{u6 gnLp 191
nnt t/
-LU\ huLn 1,350.0 243,000.0 1BO.C

1 5981 000 (utrpulfrU gnLp FCU< nuLn 135.0 6,750.0 50.0

981 1 00 QnLp FCU< nuLn 120.0 6,000.0 50.0

1 5861 000 t-dbt
pcu< qq 8,500.0 34,000.0 4.0

1 5861 200 UnLp6 1nL6{n11 PCU< Uq 8,000,0 336,000,0 42.0

1 5821 200 f-dfu{Lubpu p t\p @4w L Q w d h w dtu pdbpp) FCU< trq 1,000.0 50,000.0 50.0

r 5821 200
r?fuL{urdpur p ylp @b$fi p Q u I
hwIwndbpp)

PCIl< !q 1,600.0 80,000.0 50.0

1 5821 200
f}fuLfurbprnpflp Unt UnL tlLu$1lt Qwd

hwIwpdbpp)
nnl l/rLu\ tlq 1,450,0 72,500.0 50.0

1 5821 200
fdfuL{ubpurprlp eqhq 2nQnp4b Qwtl
hutdwpdbpp)

nnt t/rLu\ t-tq 1,000.0 50,000 0 50.c

1 584231 0 trtuputlbl (fi4hu Ltl Qw I h w[wpdbpp) pcu< qq 1,250.0 37,s00,0 30.0

1 584231 0 Lrupudbg (UnL UnL Qwd htu[wpdbpp) pcu< !q r,250,0 37,s00.0 30.0

q84231 0 gruputlb; (pnft2pwlfttt QtuI hw[wpdbBp) nnt t/rLu\ Uq 1 ,150.0 11,500.0 10.0

1 5831 000 CupLupuut{Luq PCU< qq 353.0 28,240.0 80.0

39222120 iJb! uLqLuLIlu oqLnurqnnbrlul pudutl FCU< htun 10.0 250,000.0 25,000.0

39222110 U bL1 ruLqurdlur oqLnLUqnnbdurtr tlqhub .|nt t/
-LU\ hru un 12.0 24,000.0 2,000.0

392.22100 llbll uLquLI3u oqLnuqnnbLlulr q4u 
1.

pcu< nuLn 10.0 150,000.0 15,000.c

39291 000 LLlrrgph LlnLpbp FCU< l"{q 620.0 6,200.0 10.c

3371 1 900 O6urn (dbnp[, hbrlnLQ )
.|r\t t arLu\ LNLNN 520.0 15,600.0 30.0

39831 000 LUuuqnn Llntpbp (huLnu![ hbqnLll) nnll/rLu\ nuLn 800.0 8,000.0 10.0

3981 3000 lJuppnrl LIu6nLltrbp I f n2fittbp (nu:[u2u) .lntt/
-LU\ NulLN 300.0 9,000.0 30.0

39224320 JqnLLqLbp PCU< nuLn 80.0 1,600,0 20.0

39224350 QnqLu pfru Lltrbp (coaon) nntt/rLu\ nuJtn 150,0 450.0 3.0

33761 000 2nLquupu.rL[ pnrqp rrnl |,.rLu\ nuLn 120.0 24,000.0 200.0

39525800 Lfuppnrl !LnnpLbp (r.hnZht rJuppblnt) PCU< NulLN 500.0 15,000.0 30. c

3952581 0 QullbgLnq !Lnnptrbp (humutlI lLgng) PCU< huLn 800.0 32,000.0 40,c



1 9640000
Anfrbp[1bL[ pruqhntrLbn tr LuqPh

LnnutnurLtUbp nL qruPlbP
pcu< nulLn 10.0 20,000.01 2,ooo.o

3981 1 1 00 0nh BurntftuqnLq[1LbP Ftu< NUJLN 370.0 14,800.01 40.0

3981 1 000
U@![Emo4fi h n Ln u.r Lln p durtr ! ru LI

hnr nr r rnhn&rlrrlr rrrttttnnulur-nnLLtrbn
pcu< hum 2,000.0 18,000.01 9.0

33764000 f-dqpb LuLbbnngIlqLbP
nrrt t/rLu\ hu:m 130.0 52,000.01 400.c

31 51 2000
{n$n u, tlU pblbp n { h ru lnqbL urlfrlr

chLurodLuL rr-udrubn ( B0W, 100W)
PCU< hurm 100.0 5,000.0 50.0

31 51 21 00
aru tnqE[u{htr 1u.r dq bp, funrln{ur !u6ll
/Ql"nhrrnn rrrtt[ttt\

pcu< nt! Ln 2,200.0 1s,200.01 6.0

44424200 r-r 141n tL dru q u"r Libtrtr bp ( ut1 n6, 48dd"i 00d) FCU< hLu Ln 250.0 25,000,0 | 100.0

1 B1 41 000
[lp ur muLpurlfrL dbnlrngLbp (tbnUng

nhrnhf rhl
FCU< hrur-n 250.0 7,500,01 30.0

31440000 LJLununltnqLbn (AAA hlbLIbLLn) FCU< N|'ULN 130.0 2,600.0 20.0

31440000 Lftupunllngtrbn (AA klbdblLn) pcu< nuLn 100.0 2,000.0 20.0

31224810 bpt1Lrpwgdurb lurpbp
nQll/rLu\ nuLn 1,600.0 4,800.0 3.C

44424200
tr qlnttr dtu qru t{bLLbp (bpt1!nrlduLit

hlrnLrrr unutrhLlnn dur ur u rlbL)
pcu< huLn 500.0 3,000.0 6.0

-+522400
QulltutrUbpfr diu ubp (rlnruL rfru !uL[
df snr!)

i'rn.t t/rLu\ nuLn 2,500.0 5,000.0 2.0

301 921 1 3 f?ruLupulfrt p,npnhlLbP MF4700 FCU< num 30,000.0 60,000.0

30192121 9Laflur{np qp[1 FCU< nuJm 70.0 350,000.0 5,000.0

22852000
flqpu q utr Lu Qtrbp (q nfrLIbpu:1fitr

purlurtrp, $u1$
pcu< nurm 10.0 r0,000.0 1,000.0

22851 000 UpLuqLu!urpLbp pcu< huLn 65.0 3,250.0 s0.c

301 99500
U r"n Llu p ru prlpb pqpur q uL u llL bP

(nbq[uLnptibp)
pcu< hur-n 1,000,c 20,000.0 20.0

2281 6300 tr qlnttr pbppfrQLbp tr2nLdLbpfr hu LIU p PCU< nuLn 300.0 15,000.0 50.0

2491 0000
U nufrLbLbp (UnufrLdLu LIur LnfrLn

qpurubtrlurLlulftL)
r|n.tt/rLu\ hurLn 180.0 1,800.0 10 0

301 921 30
uLu LnfrLnLbp (qpu$[unb d[2nt!nL{,

hu-ruunuL)
PCU< huLn 45.0 900.0 20.0

J192153
SbpuLn q iu pn Ltlu L1nr1 lL[pLbp
(ripn2tlLu t1Ufrp n Lryprtr!1n ttr 6"3. 5uLI)

PCU< nu Ln 8,000.0 8,000.0 1.0

301 92000

SbpuLn qu pnLLuQnrl lLtftpubp (elrFp

Lnlrop btrfr, llr frpL bp qn pbn Lltlutr
r llrrrrrrrl rrrrlrlrhnh hurrft trn)

pcu< N|'ULN 10,000.0 40,000.0 4.C

301 97330 riuUhlLbn (pu:LnLnL{) FCU< nuLn 5,000.0 15,000.0 3.0

30197220 Gqph udpLuQtrbp ilrnpp 19dul FCU< num 18.0 1,080,0 60.0

30197220 t'-drLph udpurlLbp tl[2[L 25LId PCU< nuLn 27.0 1,620.0 60.0

30197220 fdnfah uLlpuiltrbp dbb 32dLI pcu< hu: Ln 32.0 1,920.0 60.0

39241200 u!purLnLbp (qpu ublrlur t.1u1ftL) pcu< huLn 230.0 690.0 3.0

301 921 23 $ 1n rlur u Ln bptrbp qp Lu Ln ur fuLn u ll h FCU< hum 180,0 5,400.0 30.0

22817000
Opuqpbp Lr urdbtropltu L2nr.Lllbpii

LnbLnnbn (OnLuqhnp)
FCU< nuLn 1,500.0 4,500.0 3.0

301 97600 (rlLI pnLrlp pIu< hurLn 180.0 3,600.0 20.0

22450000
ULr r-[Ln uutrqn Lp1 uuL n p n2u lq fr uu u Ln [6 uulr

n Ltrbgnrl Lnu{ urqhn trlnLpbp (Pb1g)
Fnu< hur"n 500.0 5,000.0 10.0



22450000

UL{r"nuutrqn tp1ruU np n2w ![ ru uLnfr6utr

n rLbg nr1 Lnu1 urghn tr1n Lpbp (u1-11u1 u L1uutt

(u{1t!uLnhtl)

FCU< huun 1,000.0 20,000.0 20c

30234600 Srbr hhrnnnLBlnLl.rLbp ($1b2 1 6GB) pcu< huLn 5,900.0 17,700.0 ?r

30236000
2LuLurqurtr hu du L1u pq1ul fL uu pBbp

(ULlLup frLLnbpUbr.n[ u q ur hnrlrluL uur pp)
PCU< hrum 15,000.0 30,000.0 2.0

302331 32
\n2Ln uQu LlLl nw !Lbp[ 4pur1t{bpLbp
1(rrrnn nhrtlr)

PCU< hurr"n 30,000.0 30,000,0 1.0

30237140 [Ju.r tnurhult t41 ui muUbP
n..r.ttaFLU\ nuLn 40,000.0 40,000.0 1.C

33140000
Pd2lrlluL uu1r.unrfuutr urnulpluhbn (1 -htl

pn Ldoqtrn LplLutr q u p ru quL bP)
pcu< +nud 50,000.0 50,000.0 1,0

091 32200 PbtrqhL'ftbqnLgu.rp'
>/ lnLnn 480.0 1,536,000.0 3,200.0

34300000

Ubpburrlrbnfi U qnuug 2uiFon:uunn
duubp tr qupuqLuLbP (UbPbUulft

n rqlrnptr bpfr n r"nl u inu.r !fr qn nqbn
/^h' nhtrh\\

PCU< huLn 10,000.0 40,000.0 4.C

22900000 2uLuqurtr lnq urqnur [.4ulL Lln Lpbp FCU< nnwtJ 200000 200,000.0 1

301 97630
Gnrrlp Lnqirltrbpfr hutlLup (GnLryp

60q/pd)
>/ qq 800 400,000.0 500

:0197631
GnLrp LnulfilLbpfi hLuilup (tlnLrip

70qlpd)
>/

Uq 800 800,000.0 1 000

301 97632
flnLrp mqfiltrbpfr huurlup (l-]ntrp
80o/od)

>/ Uq 800 400,000,c 500

22500000

Squqpulttttt t1uryuquPUbP lLut)

qputrLullbp lrud unqurqpuulutt ut11

rlhnnnlrhn /(}hrahn r nttrtto ntttlttrtb)

>/ hruLn 700 350,000.0 500

2491 0000 UnuhLdLbn (unufrLb Lnquqpur!uL) >/ L4q 6000 360,000.0 60

2261 0000
Squqpu!uuL puLuP (1,bnLt

LnuuonuUurU)
>a Uq 8000 160,000,0

301 251 1 0

Pu npnhgh firgpur r{n pLlurt, f nZh (LnnLbp)

HP CLJ CP 4525 Lr CP 5525 uU lt
qnrL u {np 21 Oq-Lutrng Lnu puUbpnL{

pcu< hur un 23000 230,000.0 10

ItLbULnnnUulfrL PruPLnbP (a[q HP

30237131 lCP4525 u CP 5525 utr tr qnrtrtuLlnp
I

I 
pLr.r ppp[2trbpir hu du p)

pcu< NLU LN 6500 65,000.0 10

--2420000 3ruLquthtr uruppbp (switch) Ftu< nuLn 6000 12,000.0 z

32420000
SuLgurlfrU uur ppbp (LAN-[ u: dpLu gdLuU

uurno)
A^tt/rLu\ nul Ln 6000 6,000.0

*o,rn lsqhf uunp, pu"rqdu$nrlQghnLtul' A4,33

I Fo/nnub ulnuuonLatulr
pcu< hur-n 247000 247,000.0

42962200 Sq uqpru lurtr huu uLnng (nfiqnqp uu$) /-l n.tt/rLu\ nuiLn 500000 500,000.0

Uruntulnrplnrtrtrbp 23,583,180.0

6s31 0000
hlbQunp ru !utrn Lp.1uL piu2fun Ld

( h1b! r-n p ru ftr bnqh u.,t h pu2fu dutr

&tunuln rpln LLLbp)

ararT T )
.r-L_ L 4 rnruil 990980 990,980.0 I

6521 0000
Srq.h pLu2funtrl (fu nrln{u !u2ut pbpnL{

ququrlfrtr {u nbfrpfr pLu2fu dtutr

6ur nruln LplnLLLbp)

trCUZ rlpruri 1814000 1,814,000.0 1

651 1 1 000
tudb1nr gpfr pLu2funLd (Anh pu2futlurtt

bwnulnLplnLLbbp)
trCUZ 4Fruil 34000 34,000.0 L



64211 000

(urtr purl frL h bnu fu n u ur1 frtr

6Lu nLll n tplnttrLbp ( CU4hruLn Lp

oqLn uu qn pbdurU pw rluBuul fitr

hbnu fu nuuqLulrq h 6u nLuln Lpln tLLbp)

r-L L,,4 r1nr'uri 8s000 85,000.c 1

6421 0000

(bnuufunuulfrL tL m{ulLbPI
rrh nfu ruLgtluU 6u nuln Lpln LtrLbp ( q u q h

6unLulnLplnL[r bpbBp rlbtlnLLI)

trCUZ rlFuil 200,000.0 200,000.0 1

641 1 0000 Q n u Ln Lu1 frl 8r"u nrul n Lpl n LtrU bp
arrtT T tr-L_L r- 4luli 1s000 15,000.0 l.

70321 000
(n rlbp ir r{Lu pd ur ! Lu 1n Lp1 url.r

6Lu nuln Lpln LbUbp
trCUZ rlpuril 67n2AC 6,717,200.0 1

63712400

[lLlLn n dbpbL uuL bp fr Q ur1 uuti duutr

6tu nuul n Lp1 n LLL bp ( Uu[Ln n ! ru1 uuL iu m br1[ ft

6ur nulnLpln LLLbp)

trcuz rnurd 12000 12,000.0 I

60400000

O rlLul frL Ln p r"u U u Lq n p un fr bu.r nu1 n Lp1 n LLL b p

(0 4uU uu tlur ! Lul rullr bp fr Ln n du b p ft

{Lu6ur npfr t-L oryuLLu r{bpn Lul unbqbpft

Lu rlpuqprlutr 6u nruln Lp.1 n rULbp)

trCUZ rlpuiil 900,000.0 900,000.0 1

72260000

Upuqpurlfrl uq uhn{drutr hbLn lLu qrlu6

&ur nLul n Lpl n ttrl bp (t-,' bp 4p t{Lu 6

h ur dLu ! u.r pq1ul frL bpuqpf
uq uuLu p LlduL 6r"u nLuln Lp1 ntLt.rbp)

trCUZ qFuril 480,000.0 480,000.0 4

80521 000
[lLunLgLllL bpLuqpbpfr hbun lLu q{Lub

6uu nLuln Lpln LLLbp (r1u upL puu gLbpI

dLu Lnn Lg durU 6u.r nu.r1 n Lpi n LLIt bp )

trcuz rlpurd 900,000.0 900,000.0 t

50530000

UbpbUrulbpfr {bpu.rLnpnqdul tt

q u h q Lutr LIu.rL 6r"u nul n Lp1 n LirL bp

(Sq Luqpuu !utr dbpbL uL bpft

LnbfuLfr!u !uL uq u; ur"u p! Llutr

6ru nuln Lpln LLL bp)

trCUZ rlpurd 200,000.0 200,000.0 1

661 1 0000 PLuL ! Lry frtr 6uu niul n Lp1 n LtrL bp FCUZ qpuni 48,000.c 48,000.0 1.

791 321 00
L1b!LnpntrLul fh u Ln n purqpn Lplutr

h u t{u uLn u.rqpdtuL 6Lu nruln Lp1 n tLL bp

(hq bLq-h 6ru nuln Lpln LLL bp)

qlurd 6,000.0 6,000.0 I

751 1 0000
CL qh uutrnLp q buru L1 uuL 6u nuul n tpln LULbp

(al bLnu ! LUU nbq[u Ln pft

6Lu nurlnLpln LUUbp)

FCUZ +puri 20,000.0 20,000.0 1

50800000

.lbpulrnp nqduL Lr q ur hq u.rtrdutr

quLruqLuL 6u nurln iplnLLLbp (<rlu
uq ur urr.r pL1 drul 6u nu.1 nLpl ntLLbp)

trcuz rllruri 36,000.0 36,000.0 1

55320000
ULLrlh dr"u Lnn Lg dutr 6ur nruln Lp1 n LLtrbp

(U bdfrLuu ptrbpfr hur LILu p LuuL1[

LIu-r Ln n Lg d u:tr bu nu1 n Lp1 n LL )"

trCUZ rlpruil 200,000.0 200,000.0 1

501 1 2000

[-LL{in n dbpbL uL bp fr L{bp Lutr n p nqLI LuU Lt

q ur hq urLduutr 6Lu nLuln tp1 n LLLbp

( uLu p 4ur ur u p ru ulLn n LIbpbU uL bp ft

Ln bful.r [ ! u.r ! LuU u q Lu u ur p L1 rlurti

bunutnrptnLLLbn)

FCUZ rlputl 250,000.0 250,000.0 1



s0320000

Utrbtru tlurl hur rlur lur pqfiibbpft tr

uuu ppur L{npn LtlLbpfr L{bpruLnp nqduU t-t

q Lu hq r-utr LIuL 6ur nulnLp1n tLLbp

((ur LIur !uL pqh:t bnh Lnbfutrfr!Lu t1wL

uqLu uLupldul h hnPnqLlutr

6urnulnLplnLLLbP)

pIuz 4Frud 300,000.0 300,000.0 1,

501 1 2300
UL{unntlbpbtruul bplr ;L{u gdruL tr

LdLutruu Lnfru1 6ru nu1n Lp1n LLLbp
trCUZ rlptuil 125,000.0 L25,000.0 1

791 1 0000
h pu Llu lluul funphp4ur LnL{n Lpluub Lr

Lbplqulu gn Lglur tlutr 6u nurln tpln ttrLbp

(L bp!u1ru g n tglu !rutr 6u fu ubP)

trCUZ 4Imni 300,000.0 300,000.0 1

79342100
l-l rrylLu ! lr LI ur ppb pfrtr qfr 6ur nurl n Lp1 n rLL b p

(Sq uqpur !ruL Llntpbpfr L{tu6ur npft

lir pLulr rlLutr 6u nu.rl n tp1 n LLL bp )

r\rrl T )r-L- LAZ. qFuril L00,000.0 100,000.0 I

"341140

Cbtrplr tr odutrquLl uLuppw{npnidLbpft

q ru hq utrLIurL 6u nruln Lpln tLLbp

(.{ur n:ru Ur.uL 2bLpbpI nL pu ghtt

trnpnqduL [r q Lu hq u:Lriluutt

6u nulnLplnLLLbp)

nnlTtFL- L,\4 rnurd 400,000.0 400,000.0 I
I

79971 000

gppfr lLuqtldurL tL u{bpgLr"u d2urlLlutt

6unLulnLplnLLLbp (9ppbp[, ppn2nLptrbpft

lqurqLlur {npiluL hbLn !u q Lltub

bur nurln LplnLLLbp)

trCUZ rlpruil 900,000.0 900,000.0 1

79820000
S q Luqp n Lp1 Lutrtr uu nLl{n q

6ur nu1 n Lpln LLLbp (<(Lu p!Lu unL>

ru d u ur qp fr m q r"u qp rJ LuL 6r.u nLul n tp1 n LLL b p )

WL, hrur.n 1,000.0 4,000,000.0 400c

79820000
S q Lu qp n Lp1 urtrL u ntil{n 11

6Lu nu-r1 n Lp1 n rLL bp (<LIu.rpu u m n LU>

u duLuqpfr Lnq LuqpdurL 6ur nrul n tplnrLtrbp)

WL hruu L,000.0 4,000,000.0 4000

-_--413000
(LuLIurguLgLulftr (www) h2fr dlru{npdutt

6ur nLuln Lpl n rLtrbp
trCUZ r1punl 550000 5s0,000.0 1.


